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4= - A - 3H = 45 o 0 &t =
308 AXIHHSOIA 100,800 90,360 10,440
01 AIXHMBAEERZ 100,800 90,360 10,440
OF= 24201 §let&d= N 100,800
HEANE 4T E Tt SSAY &2 XA 60,000 60,000 0
308 AXIHHSOIA 60,000 60,000
01 RIXISHMBAEEZS 60,000 60,000
OFSAE 2432 st STAIY 22X
2 60,000
AR S HSHAIY 369,450 451,950 A82,500
403 XEXISHHSAH=0|A 369,450 451,950 A82,500
01 XEXISHHAE2E X 369,450 451,950 282,500
O3 EM3HTP ARAZUHIAA) A (THE) 369,450
AAZOl XRHEH 2HXA 419,600 309, 140 110,460
308 AXIHHSOIA 419,600 309, 140 110,460
11 S| 2SHUSEAEREAIS LI 419,600 309, 140 110,460
OAaa201 XJAME 29X 419,600
AMAME AAMZEOl XJ 114,000 300,000 A 186,000
308 AXIHHSOIA 114,000 300,000 A 186,000
01 JXISHMBAEEZ 114,000 300,000 A 186,000
MAME AAZOI XA 114,000
=2ZAAA AM2E X3 ALY 400,000 400,000 0
308 KAXIHHSOIA 400,000 400,000
11 2|2 SHUSEAERAEAIZHI 400,000 400,000
OS2sAAX 2M3ZE K& ALY 400,000
20 MIEEHINS X 105,000 0 105,000
308 AXISHHSOIA 105,000 0 105,000
11 S| 2SO USZEAEREAIS LI 105,000 0 105,000
OAAMZ0l HLstAis K& 105,000
HEAIE AMBOl H0IEHHA 85 XA 120,000 120,000 0
308 AXIHHSOIA 120,000 120,000
11 SI2SHUSEANIEAIEHI 120,000 120,000
ONEAE A4aB0l 2H0IEHHA &5 A
2 120,000
NMEAIR & AXMDI EM3E =& XS 3,200 0 3,200
203 YR =XIH| 3,200 0 3,200
03 AIHF=RIAREAIH| 3,200 0 3,200
O4atB0l X3 Y AIEELG =X 3,200
It & AHIAES 223,477 87,456 136,021
= 81,600
= 141,877
JIREAZAN BLIH 24 64,647 62,756 1,891
301 LEEXZ 64,647 62,756 1,891
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01 ArR22eltl 30,000 18,000 12,000
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S5 22T ey X3 ALY 500,000 500,000 0
307 QI2HO| A 500,000 500,000 0
02 QIRHEAAIHE B = 500,000 500,000 0
O==d QIS HHEY XA 500,000
2xtel HE 1,686,000 1,617,580 68,420
MBI LXte| = 1,686,000 1,617,580 68,420
KNEBSH LA2l AF (HEAIS) 1,686,000 1,617,580 68,420
308 AXIHMISO0I& 1,686,000 1,617,580 68,420
01 AXIEHBAEES 1,686,000 1,617,580 68,420
OXNGESSHL XAt 1,686,000
A ED Y & OIS01Y =4 9,283,888 8,414,429 869,459
= 1,123,000
= 5,728,043
= 2,432,845
M ED|IY & OS01E |4 9,283,888 8,414,429 869,459
= 1,123,000
s 5,728,043
= 2,432,845
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= 913,000
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= 913,000
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OMBIEIIA Lis9 & 2 5,000
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08 OIXI 2 A2 93,620 93,250 370
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201 Y2y 13,000 15,600 22,600
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307 212H01 376,000 376,000
05 DI2F9IErS 376,000 376,000
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308 XHAISHAISOI R 270,000 378,000 108,000
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= 45,000
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O0I271g S&AI 270,000
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= 45,000
DF2012) X2 Ate! 29,000 30,000 1,000
307 212H01 9,000 10,000 1,000
02 QIIAMARS BT 9,000 10,000 1,000
OOISIIY K2 2B 25t Y3 9,000
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01 AF222ll 4,000 4,000 0
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308 XX SHAISOIH 86,856 %,264 £9,408
01 RXISHBLAZES 8,856 %,264 £9,408
OFDB0IE TRIBAN IA 86,856
HH2A AL (LA 43,979 47,200 13,230
=N 43,979 47,200 23,230
=T 43,979 47,200 23,230
201 Y2y 15,079 15,079 0
01 AL 22| 15,079 15,079 0
OJI=4gH| 6. 154
OJ1=a| 8,925
202 01| 28,900 32,130 £3,230
01 201 28,900 2,130 23,230
OJI=0i| 28,900
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A= FHSH=R SN 2HSHD
3 NSy gLt
Rl =HSY Dl = (Gt H2)
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
301 EtE NS 20,900 20,900
09 2IEl=E 0| 20,900 20,900
OHMIMHI 19,200
Odg=Etl=s 300
OLAXNE st=E53H 4| 1,400
406 JIEFAZ01E 5,000 5,000
01 JIEtAH=201H 5,000 5,000
OuFANS S22 =4 iz 5,000
=HZAHUAL 2S 8,000 8,000 0
201 er23| 5,000 5,000
01 At2teltl 5,000 5,000
2erF o=y 5,000
202 048l 3,000 3,000
01 2L AL 3,000 3,000
O=LHNHI 3,000
Uistel=AI=XAE 2 2l S HIAIE 283 105,500 93,400 12,100
201 2= 105,500 93,400 12,100
02 35244l 105,500 93,400 12,100
OUeteI=AI=XIAFE 23] =Mz 25
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201 Let=23 | 5,000 8,100 23,100
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OS=-0I0ILIAIE KHOHZ S 305 JIS &AL 20,000
OHIEY EIZd XHOHZ S 10=E JISA 20,000
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